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avehY 58,520 65,893 5,000 70,893 FWLE
[0k 21 ET ) 2,970 3,800 3,800
b/ eAhl 13,430 3,292 11,500 14,792 =R
HIVDE 7,250 2,692 5,000 7,692 EILE
B4 85 2,760 2,200 2,200 JARCSFERBE 409kg
ez 2,125 2,125 2,125
EAIIPI 1,000 1,000 1,000 JARCSFERBE 90kg
HhE-ZEDL 60 160 160 ZEWLE
INF-TA - 790 1,000 1,000, =R
*FXkAhY 660 1,000 1,000 =i
DR 140 280 280 R
wELTY 60 60 60 =R
7=&7=T 80 80 80| =HE
Zhhb b 1,320 1,400 1,400 ®wER
EFI/Y 400 500 500 IHBRIE
EX/ETF 280 500 500 ZLE
ER A EgAE S 2 300 500 500 #EARR
=118 100 100 100f REER
ESS 240 240 240 HEBR
ICLDELHE 3,000 400 3,000 3,400 ZE
HEIZDHD 300 300 3000 =LR
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(a) (kg) (AN) (a) (kg) (N) (a) (kg) (N) (a) (kg) @N)

avkeAhY 1,528 61,112 9 120 4,781 5 0 0 0 1,647 65,893 14
D EBIFN 0 0 0 0 0 0 100 3,800 3 100 3,800 3
e/ eAhY 0 0 0 82 3,292 2 0 0 0 82 3,292 2
HIVODE 0 0 0 67 2,692 2 0 0 0 67 2,692 2
EM4 85 55 2,200 1 0 0 0 0 0 55 2,200 1
ICLoEbnE 10 400 1 0 0 0 0 0 10 400 1
ez 53 2,125 1 0 0 0 0 0 53 2,125 1
2Lk 25 1,000 1 0 0 0 0 0 25 1,000 1

BEF 1,671 66,837 13 269 10,765 9 100 3,800 3 2,040 81,402 25
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MEIL O & 13N 380kg/10a, Z NS E400kg/10a & T 5,




a6 FE (S 7 FREEMR) TERFYETLEMGE

1. mBE%& | KEEF

2. BFHREERVEES. BA

==§
_ — BERORROSE | BRAKE .
QB4 RER e T o BN %
+FhterFY 590 978 80 1,058 RE¥FE
HZhH1 110 1,023 90 1,113 =R
0
0
0
0
0
A 700 2,001 170 2,171

KBEEBIDHSFEMGERZ b & ICEH.

3 AEERE
EEME G
A LEHRE | EEEK HiE LERE | £EEK
|RiE£ (a) (kg) (A) (a) (kg) (A)
FhtrFY 65 978 1 65 978 1
B hh 68 1,023 1 68 1,023 1
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